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EEE S 54.09

B K 4 i B 2E KK = 50m
1 N HETRE I B8 K4 3/ 5 57.58 26.89  8f% ( 0.68)
2 KE EHE FEEPN X3 3/ 6 57.89 26.97 8% ( 0.69)
3 ik Kl 57 R i B2 3/ 7 58. 26 27.53 9%k ( 0.64)
4 %MW KIEpFEER &2 2/ 5 59. 25 27.25  9%% ( 0.58)
5 B AR PN K1 3/ 4 59. 34 27.37 8% ( 0.61)
6 B HE ER&® =2 3/ 3 1:00. 33 28.08  T#k ( 0.66)
TR Bk =V =2 3/ 8 1:00. 34 27.86 8%k ( 0.69)
8 TH K ER&E®K =3 3/ 9 1:01.17 28.55  T#k ( 0.64)
9 KNG KLz 4 v =2 3/ 2 1:01.82 28.91 8k ( 0.71)
10 5 FERER =g AN =3 3/ 1 1:02. 31 29.14  T#k ( 0.65)
11 Pefg 215 7 E = 2/ 2 1:04. 28 29.97 6% ( 0.64)
12 B HFA =V aIN5) =3 2/ 4 1:05.19 30.79 5% ( 0.65)
13 Jit 8=y =P A5 =3 2/ 7 1:05. 26 29.97 5%k ( 0.67)
14 L HER BEERR =3 2/ 3 1:06. 26 30.56 5%k ( 0.72)
15 g A NP A4 =3 2/ 6 1:06.92 29.90 4%k ( 0.64)
16 A %] FSS H13 1/ 5 1:08.00 31.04 5%k ( 0.72)
17 e HEA o< S S+t EHl 1/ 6 1:08. 42 31.88 5%k ( 0.77)
18 WA HK 7 B 155 53 1/ 4 1:08. 57 31.25  4#% ( 0.69)
19 AR 7 7 . B A = 2/ 8 1:08. 83 30.58  4#% ( 0.66)
20 )2 KB E2E0 53 2/ 9 1:11.59 30.80 2%k ( 0.61)
21 W fEE E2=) E2 1/ 3 1:12. 68 33.43 3%k (0.73)
22 /NBE BRI SEVAyA= = —f 1/ 8 1:13.29 33. 34 ( 0.77)
23 dkt  wE}f IR B =3 1/ 7 1:14. 37 33. 64 1#% ( 0.67)
24 LW EE ko L 3 1/ 2 1:16.40 33.61 1%k ( 0.73)

Hi ) B IR

6H13H 11:51



